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3. There is a famous question asked by Joseph Needham: “Why modern science did

not appear in China?” Sometimes this question was asked in the following way:

“Why Scientific Revolution never happened in China?”

A. Do you think that Needham was right when saying that scientific revolution

never happened in China? Why?
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B. If he was right, what are the main reasons why it never happened? (If you
don’t remember Needham’s explanation, you can give your own explanation).
If he was wrong, explain why he was wrong and prove that Scientific

Revolution did happen in China.
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